"What is the first thing an infant
wants to do and the last thing an
older person wants to give up?”




"What is the first thing an infant
wants to do and the last thing an
older person wants to give up?”

Walking is the exercise

that does not need a gym. It is the
prescription without medicine, the
weight control without diet, and the
cosmetic that can’t be found in a
chemist. It is the tranquilizer without a
pill, the therapy without a therapist,
and the holiday that does not cost a
penny. What’s more, it does not
pollute, consumes few natural
resources and is highly efficient.
Walking is convenient, it needs no
special equipment, and is inherently
safe.”

A walkability plan must set a stage for all
other modes of transportation to work,
including transit. If people cannot walk then
transit remains ineffective.




Placemaking



Cities are an invention to maximize
exchange (goods, culture, friendship,
knowledge) and to minimize travel.

The role of transport is to maximize
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How do WE get there?

= |t starts with Highway 5

= WE MUST work with the Highway Department
to achieve what WE want
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Higher Design Speed than Posted Speed




These are what the plans are:

The Good:

= Bike Lanes

= Sidewalks
= Median



These are what the plans are:
The Bad.:

= 4 lane road with no
turning lane

= 2 ft. Median

= No buffer between — Fett=-il

sidewalk and highway ¢ AJH; /

i,
= Crosswalk plans for % |

school/churches are T' !
unknown v I
Power lines plans are §




The Problem
The 4 Lane Road.

= Still no turning lane

= Typically 5o-8o ft wide
causing higher design
speeds than posted and too
far for someone to cross on
foot or in a wheelchair

= Devalue land of
homeowners and business
properties

= Take parking spaces away




4 Lane Road Options:

» Use adopted Complete Street
Policy Road Diet for a middle
turning lane

= 10-11 ft wide lanes with breaking
medians

Both lane widths and wide
medians will slow drivers down
in front of your business




The Problem
The Median:

= 2 ftis not wide enough
= Not ADA compatible

* Not wide enough for
beautification

= Doesn't provide a safe e
naven for those . =
Walkmg/blklng aCross = G

the street




Median Options:

» Short Medians

= Median Width

Typically 6-8 ft wide, but
can vary for landscaping,
maintenance and
adequate “refuge” for
pedestrians
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The Solution
Sidewalk Buffer Zone:

= |Include 5 ft buffer zone
with 5 ft sidewalk

» Hide power lines




Crosswalk Plans:

= Safety crossing for
children, churches
and businesses
= |sland medians
= Pedestrian Signage

= Raised Crosswalks
* Slows traffic down to
15-25 mph
= IsNOT a speed bump




Safety:

* The immediate right
shows conflict
points or
opportunities for
accidentson a 4 lane
road

= School buses drop
children off on
Highway 5

How would they
cross a 4 lane road?




Economic Growth Questions?

= |f people have to get into their cars
to shop or go eat, what's stopping
them from going to Little Rock?
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